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FIRST MID TERM TEST - 2024

Standard XI . Reg.No.
MATHEMATICS |
-Time : 1.30 hrs ‘ Part-1 . : : Marks : 50
I.. Choose the correct answer: ; 10x1=10
1. In((AxB) n(AxC))=8and n(BAC) =2, then n(A) is
a) 6 b) 4 c) 8- ©d) 16
2.  The number of constant functions from a set contalnlng m elements to a set containing -
n elements is
a) mn b) m Thie)in, d) m+n
3..Let f: R—>R be defined by f(x) = 1 - |x|. Then the range of fis 1
-a) R b) (1, «) c) (-1,0) . . d) (—oo, 1]
4. The number of relations on a set containing 3 elements is. ,
a) 9 ~b) 81. c) 512 . - d) 1024
5. If|x + 2| =9, then x belongs to e s T o
a) (-, =7) . b) -11,7]. C) (=, =7)u[11, ) d) (-11,7)
6. The number of roots of (x + 3)* + (x + §/4= 16 is . :
.~ a) 4 =0 D)2 ’ ) 3 A d) 0
7. If 3is the logarithm of 343, then the basgis Pr
a) 5 by 7 : c) 6 iy tond) O
8. Thesolution of 5x — 1'< 24 and 5x + 1 > =24 is -
a) (4,5) . b) (-5,-4) c) (-5,5) d) (-5,4)
8. cos1° + cos2° + cos3° + ............ +c0s179° = SRR T e
~a) 0 g b) 1 : c) -1 : d) 89 '
-10. In a triangle ABC, sin2A + sin?B + sin?C = 2, then the triangleis
a) equilateral triangle B, ~ b) isosceles triangle
c) righttriangle _ : _d) scalene triangle
‘ _ | . ‘Part - Il . oy
Il. Answer any 4 questions. (Q.No.16 is compulsory) : - 4x2=8

11. Find the number of subsets of Aif A={x:x=4n+1,2<n<5, neN}.
- 12. Iff: [-2,2] - B is given by f(x) = 2x3, then find B so that f is onto.

13. Construct a quadratic equation with root 7 and -3. ~
14. Express 30° angle in radian measure.

: | T
15. Find the principal value of Sin ’(7—2—]

16. Solve : [2x—17| = 3 for x. -
3 “Part-1ll

lil. Answer any 4 questions. (Q.No.22 is compulsory) 4x3=12
17. If n(P(A)) = 1024, n(A U B) = 15 and n(P(B)).= 32, then find n(A n B)

1 1 1

: 1 + - + !
.. 18. Simplify : 3-v8 vB-+v7 7-v6 6-+5 +5-2
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19.

20.

21.
22.

23

- 24
- 25.
26,

* b) Solve the equation /5 _ 4x -x2 =x+4

‘ | . (A~BY.'a=b._
. a) In AABC, prove that tan( ZB-}::E—bcot(E)
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Solve 23x<100when
i) x is @ natural number i) x is an integer
Provethat g 2= T
Find the value of cos 135°.
Draw the followinQS' ‘
hy=kl iyy=k-11 o iiys= Jx + 1|
. ~ Part-IV _
. Answer all the questions. i . 4x5=20

a+b

(OR)
b) ff:R-Ris defined byf(x) 2x 3, |jr

2

ove that f is- buectlon and find its inverse.

-y . x2+x 5 Ifxe(—ooO)
a)"w e T ik f(x) x +3x-2 if X € (3,0)
ntethevalues off at-3,5,2,-1,0if - x2 . if xe(02)
. B "| x2-3 . otherwise
(OR) S
b) Resolve into partial fractions.: 2 2
; x* +1)(x - 1)
logx logy logz -
Y-z " z_x_= x_y,then prove thetxyz:- I

(OR)

a) If

‘b) Prove that 001(1 80° +9) 5'"(9°° -9)°°S( 6)

. 5 o
(2700 +9)tan COSEC 3600 +—) COSs 9 COtG

On the set of natural numbers let R be the relatlon deﬁned byaRbif2a+3p = 30
Write down the relation by llsting all the palrs Check whether it | is

) Reflexive i) Symmetric
i) Transmve iv) Equivalence
' (OR)
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